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The Government should encourage industries and business to move out from big cities to regional £l

areas. TO what extend do you think the advantages outweigh the disadvantages?

Itis past time that the higher authorities bring in policies to shift factories and multinational companies

Hence towns are finding it difficult to accommodate the excess population. Therefore, itis vital for the %

low cost. Hence if they are moved into another place they would have to bearextra cost. Therefore, the
companies may lose their competitive edge over others on price. |

In conclusion, the cities are burdened with huge population and are facing pollution of air and noise
which has challenged the government to take initiatives to reduce them.
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